
AmEŠ—E

=
mŠSČ

2232

„am

AmĖŠŠ

.:
„štab

m—ZĖZOĖ45

(S:/xu—

7
Games—V

į....»

„55

\

x

2555

„Sozmmw

2.
ES

maž—„=>

mačai

merg-mmm

mouoššbzooxmcšššv

„CB—EB

mismseušv

“.mg?

msčšm

„Susana

mowosszbŠo

rwšmw

355555

?!EEĖŠŠ

3223

2552“

Bozmmw

o_.
5

Šou?

momšmc

052on

daug:-E

gam

23525

oE__.oc=a:nmo=

„„ŠZĖMŠ

mzox

Šach—E

mažam

8335

Somitim

S_Ezmm

ESĖ

>
duota

m
._Z

mažom

.Šuezz

Sco-==:

s_n

.:
„6me

38525

Oggy—„230:

353233

**

83:

.ž

„šis“

.u„
agama

.E

_
SN

ohmŠE

„„maža

maži—awux

82:05

SEEBĖ

nuosava}

„EE-

„EEEnm

o_EĖmŠ-E

„Son—ši

%eax?

možnsnwum

82505

„_

:Euųozmšam

„rEEmoE

„„FK—„%>

=E_>u=m._wa

_wEExm

5255:

3926

80:53

„,

od

od

32

38

38

„5235

33

8:
„_

802»on

oEŠm:

219659

šČĖZžwm

meEĖ—cw:

od

od

8,2:

38

m?”

Š

mažam

___8805

„„aš:

85882

.:

a

»

Tmuh

87.3ch

m

„„

m

N

_

„E...:

G...:—

mšEE.

;
.is:

našumu—m=;

m..-Sau

„v.—:..»

___wmšufa

„„EĖŠEĖ

„mani—š?

.

.

.

.

„„See:

But—am

268.

33,32...—

eEr—ocšnšu:

___-__Ėuuuę

aš?—52.50:

me.-=.»

oEEo=Z

„__—532

===:—

maEŠxČ/

„_n—“MMM“!

oEĖnmŠEm

maE_==:„>Ė

„==-EMP:—

mašinin-

ĖŽĖŽ

se_uzš

=

„33

gama

,.

Šš„u

„ROSE—om

.kz

_momuoem

__ŠSN

4H—4v—w4h4

356595

„9525

.

mZ—Hmž

.Q
“m

O—NQCDMU

.Ž

aga

wD—Z—hįm

©Ž$€wl€l5

„:

wš—ZŽUOMĖ

Jašvąd

OSCwn—Ė

Old

15

DG—4Qm—

OREA-:mm-

Amumučn

„2532

guzas

EEEĖ—

mncox

„muša.-vga

8385

.Š

ė

8335

€

„%HĖE

„»
.»

35580

„33352

išsami

EEE“?

8335

Šeš?

33:

.ž

0:5an

a:
omega

.E

„:S

obm.E._E

„gm-„===

močšsmmum

82:25

33:

.ž

neša

e:
šuos»

S

„com

cum-EE

Sudanu

maža—awux

82521—

SEEBĖ

m
._Z

šon—



„augau

:
mucbšv

„ESĖ

„am

AQĖŠĖ

:
„mušė

mZEZOžš>

(SH—(1—

5

Amammame

su

„8958

\

x

osčmm

muš—mmm

on
33

mačus,

momšmw

mazgas

mSo=N__Š=oo>m_._3_2=£

25:25

„522235

“Wc?

mzitam

moxmxmma

mouosmzmhuoo

wwšmw

Eccomučm

AmmŠEuŠ—č

asha

„583

Saša

2.
S

nšo—„=>

8385

20385

wise—E

manaw

33525

aggee—.gg?

:ESĖĖĖ

„:x

užgoš:

EEE»

8925

omomEEu-m

___.Ešnm

EEE

>
duota

m
.Ž

Batou

Švc.-==

3555:

=.—

.__

mažu

EEEEE

oEwnocswŠaoz

„„ESĖwR/x

=

33:

.ž

==;sz

e„
„šiame

.E

:oN

Švč.-E

3525

„ož—nsamom

82:05

25:33

agavai-„Ė

ESM

„EEE—„m

ag>—„Ėmė

„Sumų-Š

ŠDEŠ

možnsamom

8255

„_

„Šu—osmanum

„3:8on

ag>—„_?

„Š.S„Emūn

_wEEv—m

Este—E

8855

88763

*

%

ode

ož

ož

„gana

Šš

%>

=

muE_>NN._=mm5

955me

od

oodž

QS

od—

»_
„Ė

052050:

EExoŽ

„ono

_
ONo.N_

3

a

m

.

Tmuh

873ch

m

v

m

N

_

„I...:

695

mEE-E

__

.

.

..nu-==

m=E_=_ų_m_a2_

2532.

me.—:hm

Hmm-NSE

ngĖŠ-Euu

.maįęx>>

.

„,na-Ex

„===-am

269.

322325

car-83:23:

„..EŠEMĖQ

aš?—„353:

ŠE.;

„___—„nšo:

Z

„_ŠĖŠZ

onsa

magas->>

„wah—MMM».

eEĖsmŠEm

SEEĖŠĖ

mašina.:—

ne:-Ewa...—

=E_>a=w_m€

EEE-una-

=

3:5

Žas

„Rama

SN

.....HZ

_momcošėmsm

AG.—405484

55555

„2305

m.:/FHMŽ

d
„m

O—NGODMU

.Ž

aSN

Amžčs

„obmūa

„Egzas

___—„ECB.

„83

„352628

mowEmC

.Š

.5

„%eax

„.e

8835

„»
.m

5558

48332

Šššwoa

_„wmššm:

„Šeš

353?

ES:

.ž

Šri

.u

:
2555»

.5

žem

EEE-=

:mščm

močšzmmom

„9525

23:

.ž

Šiga

.u:
2552»

.5

„oem

_o_-EEE

:mščm

moššzamom

82521—

SEEČŠ

m
.„Z

schon-

wD—Z—HQQM

OET/ąwZQZ—m

„:

wšžšūomnm

44945

CŽ>QM>>

02445

DQ—šdm—

OPHNQD—m


